>
N & 0l & Av S Z M A
20124 % % 2 8 2S ~ 43S
SN 4B1S
HE: HHSH A
Sl el YA CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
a31S 181,650 180,334 1,316
HY2IZH (A31S) 66,118 64,802 1,316
el 2E | 28,038 26,722 1,316
ol 28,038 26,722 1,316
101 Q124 4] 28,038 26,722 1,316
01 2= 28,038 26,722 1,316
Ooxzuz2e+¢ 28,038 26,722 1,316
— 5= 11,0023 «1H «28Al 2+ 12 3,697 3,524 173
— 6= 9,383& x2H x28Al 2tx 12 6,306 6,010 296
—-7=2 8,476& 3 x28A| 2t 128 8,544 8,143 401
— 8= 7,609& «1H x28Al 2tx 128 2,557 2,437 120
— 9= 6,878& 3 x28Al 2t 12 6,934 6,608 326




> A
N = 0l & At & Ml A
SN 43S
HH: ZOMESY(MT2S)
el FoMEE CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
NEVE 274,067 270,843 3,224
FOMEHSY(H328) 179,648 180,348 AT00
FOMEI 68,380 69,080 AT00
SE2F 52,500 53,200 A700
301 Y a3 52,500 53,200 AT00
B5E-2 NSRS 52,500 53,200 A700
ourEsRY 25,0002 #6681 23] 3,300 4,000 AT00
#H2IAH (4D2S) 9,419 90,495 3,924
JEELETH 53,779 49,855 3,924
o124 b 53,779 49,855 3,924
101 9121 bl 53,779 49,855 3,924
01 24 30,595 29, 160 1,435
OzN224Y 30,595 29,160 1,435
~53 11,0028 %12 %28A| 2 ¥ 122 3,697 3,524 173
~ 62 9,38321 x22 x28A] 2 +12 6.306 6.010 296
-73 8,476% x221 x28A] 2t +12 5,696 5,429 267
— 82 7,602 x22 x28A] 2 +122 5,114 4,874 240
—93 6.878% 32/ x28A] 2 +128 6,934 6,608 326
—ols72 8,4762 + 12 x28A] 2t +12 2,848 2,715 133
WESIPEELPERS 23, 184 20,695 2,489
ORIl o1 2tg] 21,075 8,628 2,247
—oles 1,419,680 * 1%+ 122 7,087 11,878 5,159
—&02 0%t 0 3,960 £3,960
—oRtay 50,5602 *1% * 182 911 623 288
— A 2 0 720 AT20
—2E03 0% 0 480 £480
—ZDBIL4Y 9,480 +1Y«15A 2122 1,707 1,167 540
-EE 709, 84021 23| 1,420 0 1,420
SHETIEATREE 2,109 1,867 242
— N 21,075,000 %10/1,000 211 189 22
~-ng2H 21,075,000% *14/1,000 296 264 32
- 20013 21,075,002 #45/1,000 949 848 101
— YR 21,075,000 %29/1,000 612 531 81
~LoNIIYEE  612,0008%65.5/1,000 41 35 6




==
N £ 0 & e E M A
2AM: 4238
By FDME S (ABIE)
SRl T Atz (9 ® =)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hns2Z
& =38 200,031 191,729 8,302
FOUHH2ZE(M=238) 135,644 128,644 7,000
M &k2t 2| 63,536 56,536 7,000
EAr2te| 60,436 53,436 7,000
401 AIEBIZ 28I 12,000 8,000 4,000
01 A& HI 12,000 8,000 4,000
OQEAZ SIIANE EXN(AS3S,Z0HUlA)
3,000,000 3,000 5,000 A 2,000
OAMSRA &ZF &S A 6,000,000& 6,000 0 6,000
405 XHoHF S HI 3,000 0 3,000
01 XY 2 ZFH S| 3,000 0 3,000
OZA A28 X ¢ 200,000 =154 3,000 0 3,000
HY2AHH (AS3S) 64,387 63,085 1,302
el 2d &l 27,747 26,445 1,302
ol 24| 27,747 26,445 1,302
101 1244 dl 27,747 26,445 1,302
01 2+ 27,747 26,445 1,302
ozuz=ex¢ 27,747 26,445 1,302
— 52 11,0022 x1H x28A| 2t 12 3,697 3,524 173
— 6= 9,383 2 *28Al 2tx 122 6,306 6,010 296
—-72 8,4763 x2FH x28A| 2tx12& 5,696 5,429 267
— 8= 7,609% x2H x28Al 2tx 12 5,114 4,874 240
- 9= 6,878 *3H x28A| 2tx12& 6,934 6,608 326




N = 0l & At & Ml A
SA: R01S
B FOMELSE(H01S)

Crol: ZEOIRXIME 2 Y CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
201s 206,848 233,600 N26,752
SROHE2ZE(R0I1S) 137,589 165,752 N 28,163

FUNXHEHEZE 34,570 35,200 A 630
FUXNXAHZ2SE 30,970 31,600 A 630

301 LEE A 630 1,260 A 630

12 IIEtE 4= 630 1,260 A 630
OFLUXXIEEH XHJASAX =40 630,000 630 1,260 A 630

T &2t e 39,619 67,152 N 27,533
A2 37,439 64,972 N 27,533
401 AIEHIZ 2 HYI 2,467 30,000 A27,533

01 A& HI 2,467 30,000 N 27,533
O2& Zecld Hte g3 A 2,467,000 2,467 30,000 N27,533
HE2HZH (A0113) 69,259 67,848 1,411
el 2E | 30,059 28,648 1,411
QI 24 Hl 30,059 28,648 1,411
101 1A dl 30,059 28,648 1,411

01 2= 30,059 28,648 1,411
Oxl=22=¢ 30,059 28,648 1,411

— 55 11,0023 x 18 #28A| 2t 12& 3,697 3,524 173

— 62 9,383 2 #28Al 2t+ 122 6,306 6,010 296

A= 84763 28 x28A| 2t 128 5,696 5,429 267

— 8= 7,609% 2 «28Al 2t+ 122 5,114 4,874 240

— 9= 6,8783 3 x28A| 2t 128 6,934 6,608 326

—Jls® 92 6,878 1 #28Al 2t+12& 2,312 2,203 109




2N
X ZH -
L= B

el

Al

E 0 &

o o Al

=H o

A

0l &t o

180,232

183,072

A2,840

117,382

120,222

A 2,840

63,430

64,980

A 1,550

4,930

5,480

A 550

4,930

5,480

A 550

500,000&

110,000& =12

610
500
110

1,160
800
360

A 550
A 300
A 250

52,700

53,700

A 1,000

52,700

53,700

1,000

25,0003 *70H »22

52,700
3,500

53,700
4,500

1,000
A 1,000

23,969

25,259

A 1,290

20,369

21,659

21,290

15,150

16,440

A1,290

M
1

= 9,150,000

15,150
9,150

16,440
10,440

A 1,290
A 1,290




N £ 0 & & E A A
PN AANS
M FUHMAHRIG(AMS)

PRl FRMEXH (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
L2AS 149,770 156,676 A 6,906
FUHH2 Y (AMES) 91,096 99, 156 A 8,060

UM 46,150 47,650 A 1,500
sHad 35,400 36,900 A 1,500

301 LA Z 35,400 36,900 A 1,500

05 -2l -tEEsEaE 35,400 36,900 21,500

OptEes=2 4 25,0003 *52H *23] 2,600 4,100 A 1,500

FOUXXMEH2H 12,080 16,040 A 3,960

PAPNRu= Baage: 8,480 12,440 A 3,960

201 Let249] 8,480 12,440 A 3,960

01 At 22l 8,480 12,440 A 3,960
OFQUXNXAA slo&M =G

30,0003 x18H +12& 6,480 10,440 A 3,960

THA2te] 32,866 35,466 A 2,600

EArztel 30,226 32,826 A 2,600

401 A& HIZ 2018 8,000 10,600 A 2,600

01 A& HI 8,000 10,600 A 2,600

OXIot ==& Hl H& S A 5,000,000 5,000 7,600 A 2,600

HY I T (DALS) 58,674 57,520 1,154

el 2H | 24,594 23,440 1,154

oI 244l 24,594 23,440 1,154

101 1A Hl 24,594 23,440 1,154

01 2=+ 24,594 23,440 1,154

O=lz22a4 24,594 23,440 1,154

— 5= 11,0023 18 x28A| 2t 12& 3,697 3,524 173

— 6= 9,383& x1H *x28A| 2tx12& 3,153 3,005 148

— 7= 8,4763 2 x28Al 2tx 128 5,696 5,429 267

— 8= 7,6093 x2H x28Al 2tx 128 5,114 4,874 240

— 9= 6,8783 *3H x28Al 2tx12& 6,934 6,608 326




==
N & o & AF & H Al A
M A21S
M FUHAHRIY(A318)

SRl T Atz (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
Ad=1s 268,526 268,572 A48
FUHH2ZE(I9=213) 208,412 209,612 21,200

M &k2t 2| 63,432 64,632 21,200
EAr2te| 50,564 51,764 A 1,200

201 Let24dy] 26,564 27,764 A1,200

02 23=2gHl 22,874 24,074 21,200
OA&ZEHl |Xldl| 4,274 5,474 A 1,200
—HE3 22X =Xl 0 0 1,200 A1,200
HY2IZH (2 315) 60,114 58,960 1,154
el 2g Al 24,594 23,440 1,154
ol Al 24,594 23,440 1,154
101 @124 dl 24,594 23,440 1,154

01 2= 24,594 23,440 1,154
Ooxzuz=e¢ 24,594 23,440 1,154

— 52 11,0022 x1H x28A| 2t 12 3,697 3,524 173

— 6= 9,383 1H *28Al 2t 123 3,153 3,005 148

—-72 8,476 x2H x28Al 2tx 12 5,696 5,429 267

— 8= 7,609% 2 x28A] 2tx 12 5,114 4,874 240

- 9= 6,878 x3H *x28A| 2tx12& 6,934 6,608 326




A & 0l & AF 2 E A A
2N @3S
M FOMEHSY(AR2E)

Sl FOIME I (B9 ®R)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
A=2s 209,840 211,290 A 1,450
FUHH2 I (9228) 149,726 152,330 A2,604
UM 68,060 70,160 A 2,100

sHad 53,200 55,300 A 2,100
301 LA Z 53,200 55,300 A 2,100
058 -2l -Has2E43 53,200 55,300 A 2,100

Otttz as=2y 25,0003 «80H *23] 4,000 6,100 A 2,100
FUTNXHEHZ2E 23,015 23,519 A 504

FURNXNEEH 2 19,415 19,919 A 504
301 LAz 0 504 A 504
12 JIEtE &= 0 504 A 504

OFUXXHEH HJASAX S A 2 0 504 A 504
T &k2te| 58,651 58,651 0

EAr2tel 55,511 55,511 0
401 A& HIZ 201 I 22,000 34,000 A 12,000
01 A& HI 22,000 34,000 A 12,000

O A 015t - 2832 T8 (225, 2010l
&) 22,000,000& 22,000 34,000 A 12,000
405 XtatE SHI 12,000 0 12,000
01 AR ESFH S 12,000 0 12,000
OS&EA Btet . 2332t &I 72¢ 12,000 0 12,000
— 20 572,000 64 3,432 0 3,432
—=s24d=2 7 0l0IXIt+ 1,540,000& =174 1,540 0 1,540
— 002 &A 1,176,000 =14 1,176 0 1,176
—Hols 495,000& =44 1,980 0 1,980
— 2% 242,000 * 164 3,872 0 3,872
HE2IEH (H=228) 60,114 58,960 1,154
el 2g Al 24,594 23,440 1,154

ol i 24,594 23,440 1,154
101 @124 Hl 24,594 23,440 1,154
01 2= 24,594 23,440 1,154

Oxl=z2=2=¢ 24,594 23,440 1,154
— 532 11,0023 »1H *28A| 2t 12& 3,697 3,524 173
— 6= 9,383& 1 x28A| 2t 128 3,153 3,005 148
—7= 8,476 2 x28Al 2tx 128 5,696 5,429 267
— 8= 7,6093 2 x28A| 2t 128 5,114 4,874 240
— 9= 6,8783 *3H x28Al 2tx 12 6,934 6,608 326




==
N & o & AF & H Al A
2 &S
M FUHMHRIG(FEAS)

& FUMETR (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
Fos 356,902 357,800 A 898
FUHHRIY (EAS) 286,570 288,930 A 2,360

UM 72,960 73,960 21,000
sHad 58,760 59,760 A 1,000

301 LA Z 58,760 59,760 A 1,000

05 -2l -tEEsEaE 58,760 59,760 21,000

OptEes=2 4 25,0003 «60LH 23] 3,000 4,000 A 1,000

FOUXXMEH2H 39,260 40,620 A 1,360

QIXIMMEH S 27,660 29,020 A 1,360

201 Let249] 24,360 25,440 21,080

01 At 22l 24,360 25,440 21,080

OFQUXNXAA slo&M =G

30,0003 x26H «12& 9,360 10,440 A 1,080

301 L2 Az 980 1,260 2280

12 JIEtE& = 980 1,260 A 280
OFURXIHE IHASAX SAH|

7,000& 140 980 1,260 A 280

HE2HEHI(EAS) 70,332 68,870 1,462

el g Al 31,132 29,670 1,462

oI 24yl 31,132 29,670 1,462

101 124 dl 31,132 29,670 1,462

01 2= 31,132 29,670 1,462

OzuzZ2=¢ 31,132 29,670 1,462

— 5= 11,0023 »1H 28| 2t 128 3,697 3,524 173

— 6= 9,383 *2H *x28Al 2t 123 6,306 6,010 296

—-72 8,4763 x4 x28A| 2tx12& 11,392 10,857 535

— 8= 7,609% 2 x28A] 2tx 12 5,114 4,874 240

— 95 6,878& x2H x28Al 2tx 12 4,623 4,405 218




—— A
N & 0l &t A AN A
2N s
HM: =OHHSI(EES)
el ZEolME R (2o ae)
S -G (FH) - NRAY - BES Ol &F o o= o HDE2
TEE 292,198 300,454 N8,256
FOHEHRIE (EESE) 192,954 205,280 N 12,326
FOIMEXH 104,090 106,690 A 2,600
Stt2d 88,650 91,250 A 2,600
301 et A= 88,650 91,250 A 2,600
bE-2-EtEEEsEMZ 88,650 91,250 A 2,600
OSHEesEN 81,800 82,000 A 200
— 3o &AMt 20,000 x59H 10 11,800 12,000 A 200
ObtaasE A 25,000 137 x23| 6,850 9,250 N 2,400
FOXXHEHSY 32,170 34,300 AN2,130
FOXNXMEH2H 20,570 22,700 A2,130
201 et 19,310 21,440 A2,130
01 AFR 2t 2| bl 19,310 21,440 N2,130
OFOUINXNAY S oEMHE 8,310,000& 8,310 10,440 AN2,130
THAF2E2| 52,994 60,590 N7 ,596
HAL22] 49,394 56,990 N7 ,596
201 gBt2Ay| 22,230 22,590 A 360
01 AP 2t 2| bl 3,380 3,740 A 360
Os A dBt=2H| 3,380 3,740 A\ 360
—D0AHANAY SALLE
150,000 x12& 1,800 2,160 A 360
401 AlEHIZL 2 0HY| 20,274 27,510 NT,236
01 Al&H| 20,274 27,510 NT,236
O15 & & HUHEIHE Z2 A 20,274,000& 20,274 27,510 NT,236
HERAAH(EESE) 99,244 95,174 4,070
ol Al 56,044 51,974 4,070
oI d| 56,044 51,974 4,070
101 2121 H] 56,044 51,974 4,070
01 = 32,860 31,318 1,542
OxUI2PE 32,860 31,318 1,542
— 52 11,0022 1 «28A| 2tx12& 3,697 3,524 173
— 6= 9,383& x2H x28A| 2tx 12 6,306 6,010 296
-7 8,476 2 x28A| 2t x 12& 5,696 5,429 267
— 82 7,609) *4H x28A| 2tx 12 10,227 9,747 480
-9 6,878 x3H x28A| 2Hx12& 6,934 6,608 326
03 RIAHLZZXHE = 23,184 20,656 2,528
OBILQIoHLY o1 AHb| 21,075 18,793 2,282
—J=22 1,419,680 x1H ~12& 17,037 11,878 5,159




2N
X ZH -
L= B

el

CCtse

LT o o
HY2HIH(=ESs)
elE2d

SA - B (A) - NTAY - BES 0l &t o o1H o HDE2
—d0= 0& 0 3,960 A 3,960
— X 50,560 «1H 182 911 588 323
— e sSAt=E 0 0 720 AT20
— 25043 0& 0 480 A 480
— =2 9,480 18 »15A 2t 12 1,707 1,167 540
— S E =0t 709,840& x22] 1,420 0 1,420

OQlaeletly B8z 2,109 1,863 246
—MHEE 21,075,000 *10/1,000 211 188 23
—1EEE 21,075,000% *14/1,000 296 264 32
— =%z 21,075,000& *45/1,000 949 846 103
— AL EE 21,075,000% *29/1,000 612 530 82
— LI RAEE 612,000 #65.5/1,000 41 35 6




>
N & 0l & Av S Z M A
SIS
HE: UYL YA (AHS)

Sl ol ey EERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
SIS 230,620 229,466 1,154
SR (AUHS 58,674 57,520 1,154

EESET 24,504 23,440 1,154
oI 244l 24,594 23,440 1,154

101 @124l 24,594 23,440 1,154
e 24,504 23,440 1,154
OzV2L4Y 24,504 23,440 1,154
—53 11,0028 12 %28AI 2+ 1228 3,697 3,524 173

- 62 9,383%! %1% 28A| 24122 3,153 3,005 148
-73 8,476 x22 x28AI 2t +122 5,696 5,429 267

- 82 7,609% %23 28 Al 24+ 122 5,114 4,874 240
—93 6,878 +32 x28AI 2t 122 6,934 6,608 326




= o
N & 0l & AF & E A A
2H: 1S
M FUHMHRIG(B1S)

& FUMETR (chel & 9l)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hl w&z2
1S 262,751 260,789 1,962
FOUMEHSI(B1S) 174,242 176,039 21,797
FOI MBI 109,923 110,280 A 357

SOl M TR 4,843 5,200 A 357

301 L2 A Z 1,743 2,100 A 357

10 #AIAHIE A Z 1,743 2,100 A 357

O&FHH& =239 2FHl 3,500 «46H *33] 483 840 A 357

FOUXXMEH2H 29,258 30,698 21,440

FOXXEH2H 25,658 27,098 A 1,440

201 Let249] 16,780 18,220 A 1,440

01 At 22l 16,780 18,220 A 1,440
OFURNXAY sl

30,0003 x23H «12& 8,280 9,720 A 1,440

HY2IHEH(B1S) 88,509 84,750 3,759

el gl 50,569 46,810 3,759

ol Al 50,569 46,810 3,759

101 @124 dl 50,569 46,810 3,759

01 2= 27,442 26,154 1,288

O=l224 27,442 26,154 1,288

— 5= 11,0023 » 15 28| 2t 128 3,697 3,524 173

— 6= 9,383& x1H *x28A| 2tx12& 3,153 3,005 148

— 7= 8,476 3% x28Al 2tx12& 8,544 8,143 401

— 8= 7,609% x2H x28Al 2tx12F 5,114 4,874 240

- 9= 6,878 3% *x28A| 2tx12& 6,934 6,608 326

03 RIAHAZZAE S 23,127 20,656 2,471

OQIRACIoHY ol A Y| 21,024 18,793 2,231

—Jlas 1,419,6803 x1H +12& 17,037 11,878 5,159

— &0z 0 0 3,960 A 3,960

— QX 50,5603 1«17 860 588 272

—HYSAM=E o0& 0 720 AT20

— 25043 o0& 0 480 A 480

—=U2RE 9,480 *1H »15A 2tx 128 1,707 1,167 540

— ZE S| 709,840& *23] 1,420 0 1,420

Ool@olotly 2= 2,103 1,863 240

— M EE 21,024,000% *10/1,000 211 188 23

—1E2E 21,024,000& *14/1,000 295 264 31

— =304z 21,024,000& *45/1,000 947 846 101

— A2 21,024,000& *29/1,000 610 530 80

— LA AEH 610,000& *65.5/1,000 40 35 5




> A
N & 0l & Av S Z M A
2N B2
o FOMESY(52S)
el FUNXME2SE (Sl & &)
SA-EY.B(BH) - PN - BES 04l &t o p/E-L HI RS2
=28 245,587 241,919 3,668
FUHHR2 I (B28) 151,304 150, 164 1,140
FOUNXHEH2Y 37,920 36,240 1,680
FOUNNEEHZY 34,320 32,640 1,680
201 LEt2A | 34,320 32,640 1,680
02 32224l 11,880 10,200 1,680
OFQUXXEH 284 22|l
990,000& »12& 11,880 10,200 1,680
TH &F2k 2| 24,314 24,854 A 540
A2l 21,174 21,714 A 540
201 LEt2E | 21,174 21,714 A 540
01 AFR2t2ltl 3,330 3,870 A 540
OST AL diBt=8H| 3,330 3,870 A 540
— M= Fadl o0& 0 300 A 300
—got2id =2 80,000& 12 960 1,200 A 240
HHE AT (528) 94,283 91,755 2,528
el A | 52,343 49,815 2,528
QI 24l 52,343 49,815 2,528
101 1Al 52,343 49,815 2,528
03 I AHA2 22+ 23,184 20,656 2,528
OBIAQIOHLY o1 AH| 21,075 18,793 2,282
—Jlz2s 1,419,680& x 1P «12& 17,037 11,878 5,159
—&03 o0& 0 3,960 A 3,960
— =g 50,5603 «1H 18 911 588 323
—UHeSA=E o0& 0 720 AT20
— 2=t s 0& 0 480 A 480
— =2 9,480& 18 »15A 2t 12 1,707 1,167 540
— S E =t 709,840& x22] 1,420 0 1,420
OQlaeloty B2 2,109 1,863 246
—&HEE 21,075,000 *10/1,000 211 188 23
— D828 21,075,000& *14/1,000 296 264 32
—=0d= 21,075,000 *45/1,000 949 846 103
—HLEE 21,075,000& *29/1,000 612 530 82
— LI RAEEE 612,000% *65.5/1,000 41 35 6




N & o & AF & H Al A
2N E3s
M FUHMHRY(E3S)

& FUMETR (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
=3 220,051 223,613 A 3,562
FOUHHRZ(E35) 143,654 148,775 25,121
UM 81,670 83,010 A 1,340

sHad 67,480 68,820 A 1,340
301 LA Z 67,480 68,820 A 1,340
05 -2l -tEEsEaE 67,480 68,820 A 1,340

OszZas=2y 62,080 62,320 A 240

— 3L 20,0003 x37H x12& 8,880 9,120 A 240

Otttz as=2y 25,0003 x108H »23| 5,400 6,500 A 1,100
FOXXMEH2H 33,000 36,356 A 3,356

FUNXNEEHZ Y 29,400 32,756 A 3,356
201 Let24d] 29,400 32,000 A 2,600
01 At 22l 29,400 32,000 A 2,600

OFUXNXNAA 3l &M=
30,0003 23 «12& 8,280 10,440 22,160

OMdatlsna 2AxE

20,0003 *20H & *23A1 2tx 118 10,120 10,560 A 440
301 et A=z 0 756 AT756
12JE243 0 756 A 756
OFURXIHME IHASAX SAH| 0 0 756 AT56
T &k2t 2| 28,984 29,409 A 425

A 2e] 25,834 26,259 A 425
405 THobH S| 4,475 4,900 A 425
01 AL =2 ZFH SHI 4,475 4,900 A 425

Ozl X ¢ 241,000 =154 3,615 3,900 A 285

OO0 dEAIE E§X 2 86,000 =104 860 1,000 A 140
HYRFZH (B38) 76,397 74,838 1,559
el g Al 33,197 31,638 1,559

ol Al 33,197 31,638 1,559
101 @124 dl 33,197 31,638 1,559
01 2= 33,197 31,638 1,559

Ooxzuz=ex¢ 33,197 31,638 1,559
— 5= 11,0023 »1H *28A| 2t 128 3,697 3,524 173
— 6= 9,383 2 *x28Al 2t 123 6,306 6,010 296
-7 8,4763 x4 x28A| 2t x12& 11,392 10,857 535
— 8= 7,609% «1H «28A] 2t+ 123 2,557 2,437 120
- 9= 6,878 x4 x28A| 2tx12& 9,245 8,810 435




N & o & AF & H Al A
2N B4S
M FUHMHRY(B48)

& FUMETR (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
e 232,028 231,273 755
FUHHR I (545) 154,848 155,688 A 840

UM 81,340 80,020 1,320
QA=A 6,420 5,100 1,320

201 Let24dy] 6,420 5,100 1,320

02 23=2gHl 5,280 3,960 1,320

OZUE 018 & REHE= 440,000& x12& 5,280 3,960 1,320

FOUXXMEH2H 33,900 36,060 22,160

FOXXEH2H 27,300 29,460 22,160

201 Let249] 26,040 28,200 A 2,160

01 At 22l 26,040 28,200 A 2,160
OFQUXNXAA slo&M =G

30,0003 x23H «12& 8,280 10,440 22,160

HYR2FZHI (F45) 77,180 75,585 1,595

ole 2 H Al 33,980 32,385 1,595

oI 244l 33,980 32,385 1,595

101 @124 dl 33,980 32,385 1,595

01 2= 33,980 32,385 1,595

Ozuz2+¢ 33,980 32,385 1,595

— 5= 11,0023 » 15 28| 2t 128 3,697 3,524 173

— 6= 9,383& x2H x28Al 2tx 12 6,306 6,010 296

— 7= 8,476 5 x28Al 2tx12& 14,240 13,572 668

— 8= 7,609% 2 x28A] 2tx 123 5,114 4,874 240

— 99 6,878& «2H x28Al 2tx12& 4,623 4,405 218




N & o & AF & H Al A
SM: NS
M FUHAHRIG(AS)

ol FOIME R EERED
SA - BAEN) - NRAY - LS 0l &F 24 o1& o HRE2
as 217,516 221,995 A4, 479
FUHH2ZE(4S) 148,013 163,913 25,900

UM 79,300 80,170 A870
sHad 63,170 64,040 AB70

301 LA Z 63,170 64,040 AB70
05 -2l -tEEsEaE 63,170 64,040 AB70
Otttz as=2y 4,130,000 4,130 5,000 A870
FOUXXMEH2H 20,660 21,300 A 640
FOXXEH2H 17,060 17,700 A 640
201 Let249] 15,800 16,440 A 640

01 At 22l 15,800 16,440 A 640
OFURXHH 3l &FH 9,800,000 9,800 10,440 A 640

T &k2te| 48,053 52,443 AN 4,390
At 2el 44,873 49,263 AN 4,390
401 Al I 28I 9,220 13,610 A 4,390

01 A& HI 9,220 13,610 A 4,390
OSEAL SaH=3AM 9,220,000 9,220 13,610 A 4,390
HY2FZH (& S) 69,503 68,082 1,421
el 2 Al 30,303 28,882 1,421
ol | 30,303 28,882 1,421
101 @14 dl 30,303 28,882 1,421

01 2= 30,303 28,882 1,421
OxM=22=g 30,303 28,882 1,421

— 52 11,0022 x1H x28A| 2t 12F 3,697 3,524 173

— 6= 9,383& x2H x28Al 2tx 128 6,306 6,010 296

—-72 8,476 2 x28Al 2tx 128 5,696 5,429 267

— 8= 7,609% *3H x28Al 2tx 12 7,670 7,311 359

- 9= 6,8783 *3H x28Al 2tx 12 6,934 6,608 326




N = 0l & At & Ml A

2N S
H: HH2AAH(M41S)

e HRIEES-E EERED
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
S 269,486 277,080 AT,594
HHE2H L (A1S) 88,135 95,729 AT,594

g2 gl 44,935 52,529 AT,594
oI 244l 44,935 52,529 AT,594
101 @124l 44,935 52,529 AT,594
01 2=+ 33,443 31,873 1,570
Ooxzuz2e+¢ 33,443 31,873 1,570

— 5= 11,0023 «1H «28Al 2+ 12 3,697 3,524 173

— 6= 9,383& x2H x28Al 2tx 12 6,306 6,010 296
—-7=2 84763 x4 x28A| 2t 128 11,392 10,857 535

— 8= 7,609& «2H x28Al 2tx 128 5,114 4,874 240

— 9= 6,878& 3 x28Al 2t 12 6,934 6,608 326

03 RIAHAZ22RHE 11,492 20,656 A9,164
OSIAQIoHLY o1 AH| 10,446 18,793 A8,347
—Jles 1,419,680 «1H «6& 8,519 11,878 A 3,359

— &0z 0& 0 3,960 A 3,960
PN, 50,5602 «1H 102 506 588 A82

— e sSAt=E 0 0 720 AT20

— 2343 0& 0 480 A 480

— =2 9,480& 18 x15A1 2t+5& 711 1,167 A 456

— S E St 709,840& x 12l 710 0 710
OolRolorl E¥ g 1,046 1,863 AB17

— M EE 10,446,000& x10/1,000 105 188 A 83
—1EEE 10,446,000& x14/1,000 147 264 A7

— =03z 10,446,000& *45/1,000 471 846 A 375
—HL2E 10,446,000& *29/1,000 303 530 A 227

— LA RYEE 295,000% *65.5/1,000 20 35 A15




= A
N = 0 &8 AFH Y & A AN
SN sos
A FOMHSY(42S)

CHel: FOIME R (el &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Moo= 247,504 246,968 536
ZOIMEHEY (A2S) 152,368 155,768 A 3,400
OIS 86,130 86,830 AT700
sty 71,350 72,050 AT700

301 Yt A2 71,350 72,050 AT700
0552 -EssEA3 71,350 72,050 AT700
Otast=g o 25,0002 *115% %23 5,750 6,450 AT700
=OIXKINEHSY 27,970 30,670 A2,700
ZORXNEH2Y 24,370 27,070 22,700
201 LBt 23,740 26,440 22,700
01 AL 22| H 23,740 26,440 22,700
OZQXXSY 3o &g 7,740,000 7,740 10,440 A2,700
HNSAAH (A2S) 95,136 91,200 3,936
ol 2% AH| 53,196 49,260 3,936
ol 4 H 53,196 49,260 3,936
101 Q14 H 53,196 49,260 3,936
=S 30,012 28,604 1,408
GESn F=I=Eo= 30,012 28,604 1,408

—-52 11,0028 %12 %28A| 2t 12 3,697 3,524 173

—-62 9,383 x2% x28A| 2+ + 122 6,306 6,010 296

-72 8,4762 x 1 x28A| 2tx 122 2,848 2,715 133

—-82 7,609 x4 «28A| 2+ <122 10,227 9,747 480

—-92 6,878 x3H x28A| 2+ + 122 6,934 6,608 326

03 RIHA2R2UHE 2 23,184 20,656 2,528
OOI2A0I0 Y o1 24| 21,075 18,793 2,282
-J=2 1,419,680 x 1 « 122 17,037 11,878 5,159

— &3 0 0 3,960 A 3,960
—oixtag 50,5602 %12 »18L 911 588 323

— e EASE 0 0 720 AT20

— 20 a2 o 0 480 A 480
—zlaesd 9,480 x 1 *15A 2+ <121 1,707 1,167 540

— YHE S| 709,840 124 23] 1,420 0 1,420
oololorly 282 2,109 1,863 246

— MBS 21,075,000 10/ 1,000 211 188 23

- 1288 21,075,000 *14/1,000 296 264 32

— 2092 21,075,000€ *45/1,000 949 846 103
—HALE 21,075,000 *29/ 1,000 612 530 82

— Lo QU 612,000 65.5/1,000 41 35 6




> A
N & 0l & Av S Z M A
SN A3S

M FUHAHSY(M3S)

el FUXNXANEH2E (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HI RS2

&3S 239,383 242,491 A 3,108
FOUHH2Y(A3S) 144,013 151,013 A7,000
FOUNXHEH2Y 20,300 27,300 A7,000
FOUNNEEHZY 16,700 23,700 A7,000
201 LEt2A | 15,440 22,440 A7,000
01 AtR 22l | 15,440 22,440 A7,000
OF0luna ZA==& 5,000,000 5,000 12,000 AT7,000
HE 2L (A3S) 95,370 91,478 3,892
e 2 gl 53,430 49,538 3,892
oI 244l 53,430 49,538 3,892
101 Q124 H] 53,430 49,538 3,892
01 2= 30,303 28,882 1,421
Oozuz22+¢ 30,303 28,882 1,421
— 55 11,0023 »1H x28A| 2t 12& 3,697 3,524 173
— 6= 9,383& x2H x28Al 2tx 128 6,306 6,010 296
—-7=2 84763 2 x28A| 2t 128 5,696 5,429 267
— 8= 7,609& «3H x28Al 2tx 12 7,670 7,311 359
— 9= 6,878& 3 x28Al 2t 12 6,934 6,608 326
03 RIAHA2 2R E > 23,127 20,656 2,471
OBSIAQIoHLY 1 AH| 21,024 18,793 2,231
-Jles 1,419,680& x 1P «12& 17,037 11,878 5,159
— o0z 0& 0 3,960 A 3,960
— X 50,560 «1H x17L 860 588 272
— e sSAt=E 0 0 720 AT20
— 243 0& 0 480 A 480
—E2fE 9,480 1H x15A] 2t 123 1,707 1,167 540
— S E St 709,840& x22] 1,420 0 1,420
OolRolorl Ed g 2,103 1,863 240
—&THEE 21,024,000 *10/1,000 211 188 23
—1EEE 21,024,000% *14/1,000 295 264 31
— =0z 21,024 ,000& *45/1,000 947 846 101
—HLEE 21,024,000% *29/1,000 610 530 80
— LA REEH 610,000& #65.5/1,000 40 35 5
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